3 | 7 6 5 v 4 3 | 2 1

GENFRAL NOTES:
1. STAPLES ON_GROUND WIRE SHALL BE 2'-D° APART EXCEPT FOR A

1"—o"

7—0°

C\LANL Enginesring Biandardo\End. Marual [LEMI\Z. Appravad\ST—C4010—-2BE1 dAvg, 11/04/02 B 1450 ©8388

DISTANCE OF H'—D" ABOVE GROUND AND E'—D" FRGM TOP OF POLE
WHERE THEY SHALL BE B* APART.
DEE—RN 2, EQUIPMENT MEM NUMBERS ({1)) REFER TO EQUIPMENT NUMBERS IN LANL
SUPPORT SERVICES CONTRACTDR'S MASTER HILL OF MATERIALS. ONLY
THCSE NUMBERS USED ON THIS DRAWING ARE SHOWN.
=
BILL OF MATERIALS
- - - - - 4 ITEM DESCRIPTION QTY| MFR. CATALOG No.
SECTION A—A ‘ ‘ {7y | waoo PoLE, OF ', class 3 1
{2) | cross ARM, WDOD, 3 1/2° X 4 1/2" X &-0", 4 PIN 4 |HuoHES #2202C
A F-1" , 17" Qg , A {3) | CROSE ARM BRACE, 1 11/16" X 2 11/16" X 48" SPAN 4 |BROOKS f446-48-24
(7) | SPRING WASHER, 5/8" SIZE 4 | JOSLYN #4177
S WRE, 3/8" (7#8) H.5. STATICM 30% COND. Ré\g,n COPPERWELD
|
' FOLE BAND, 4—WAY, FOR 7 1/2° TO 12° DA 1 |HucHes #11m
I
T -—-E‘IQQHIH = o 40) | LAG SCREWS, 1/27 X 4 1 | JQSLYN #J8784
i @) | CONNECTING LINK 2 | HUGHES #3170
@ O 0! | A -ro Q2 | GUY ROLLER, WHEEL TYPE, WITH 3/4° X 2° BOLT 2 | HUGHES #2B0B2
4 - ]
1 N Q3 | cur GRIP DEAD END, "B” COAT, 3/8" SIZE, GALV. 2 |PREFORMED #CDE3115
+ ! 5 ) @49 | CRIMP CONNECTOR 2 | HrTAR
T 48 | MAGHNE BOLT, 1/2° X & 8 |JOSLYN fuB706
__,/6? SEE NOTE 1 2'_B" 2_6"
0, &b | MACHINE BOLT, 5/8" X 14" 2 | JOSLYN fusai4
TH—w @) | SQUARE WASHER, 5/B° SIZE 12 | JasLYyN #1074
1 @J) | DOUBLE ARMING BOLT, 5/8° X 227 @ |JOSLYN #Bs72
&3 | EYE NuT, 5/8" SIZE 12 | JOSLYN #1082
r &5) | SUSPENSION INSULATOR, POLYMER 12 | JOSLYN AL1510
HUBBELL /ANDERSGN
@B | STRAN CLAMP, DEAN END 8 | 4Gow—2040
ND. 1/0 BARE COPPER WIRE, 7 STRAND AS
) REG'D
&2) | GROUND WIRE STAPLE, 2" Ré\g,n JOSLYN #46655
G-lll- ==. . GROUND ROD, 3/4" X &' 1 | JOSLYN #u5338
v
&) | GROUND ROD CLAMP, HEX HEAD, 3/4" 1 |JosLYN fus4s3
_q {B | WEJTAP CONNECTOR 3 | FCI-BURNDY (# AS REQUIRED)
e @ \ (MIN)
& | @1) | REMOTE MQTDR CPERATOR 1 | TURNER ¥HS—3 24VDS
&3 \ N i @ 1
\ \ 7 (MIN.)
\ A\ - . —~—
> i%# _#ﬁ ==
.I‘ T VOOV VOV VU VvV VvV VvV
al o 0TSO0 DEROR vrcron |
Z @/ P DRAWING ?
P i 6AMPLY WITH CLURRENT EDTIEN oF ¢
3 G MANUAL FOR CALL- ¢ Y
OUTS PROTCCOL AND LDGATION GF o DESCRPTION owN (VER[cHiD|suB | AP
T ¢ 2 /?EERUAN APPR[%ITATE DRAWING ¢
p 4
[ Nilveeg pee cseaT emon oF | FACILITY & WASTE OPERATIONS
b FOR CETALS. b SYSTEMS ENGINEERING & MAINTENANCE
LANL ENGINEERING MANUAL RN | R
SITE ELECTRICAL DISTRIBUTION STDS.
CESEN D, BRYANT
DISTRIBUTION — STANDARD SWITCH CHEDKED
INSTALLATION WITH REMOTE OPERATOR DETAIL J. LANDNAN
OATE
DRAWING DEVELOPED FOR ML-3/ML-4 L. X T 8/30/b2
STANDARD SWITCH INSTALLATION WITH REMOTE OPERATOR DETAIL PROIECTS. | FOR MLL1/M.-2, © N— v os TN o
SCALE: NONE REVIEWS ARE REQUIRED. (REMOVE SHEET
THIS NOTE WHENE$NSERTED INTO A P 1
DRAWING PACKAGE).
e Los Alamos PU Bax 1063 1 ar 1
NATIONAL LAROAATRRY Los Akmos, New Maxko B764f
CLASSFICATAN U [REVEMER  NIHAEL LaDaTH [oarea/38/82
PRQJECT D DRAWING NO R
CHAPTER 7 ST-G4010—-26| 0




